
 

 

 

Hard Maths Puzzles with Answers Pdf 

Questions : 1 

What number should replace the question mark? 

 

Ans: 364 

The sequence is × 3 + 1. 

Questions : 2 

What number should replace the question mark? 

 

Ans: 2 

7 + 8 + 8 = 23. 

Questions : 3 

What number should replace the question mark? 



 

 

 

Ans: 15 

6 × 10 ÷ 4 

Questions : 4 

What number should replace the question mark? 

 

Ans: 5 

26 + 3 + 7 + 6 + 8 ÷ 10 

Questions : 5 

What number comes next in this sequence? 



 

 

 

Ans: 6 

Add 0.5, 1, 1.5, 2 

 

 

 

 

 


